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Vref.

4,7K

270°

90°

180°

Low Pass fc (-3db)
= 1/(2*Pi*(Rsys+Ron+R)*C)
=1/(2*Pi*132*10EE(-9))=224,162 Hz
= 224 kHz
------------------------------------------------
Po = 0,5 (duty cycle 50%)
Rinput = 50 ohm
Rsys = Rinput * Po = 50*0,5 = 25
Ron = 7 ohm
Rc = 39 ohm
C = 10 nF = 10EE(-9) F

LPF starting rolling off  (0,5 dB) at 192 kHz
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Input +

Input -

Input +

Input -

Gain = 1+ (4*(Ra+Rb)/Rc)
        = 22,8 Vo/Vi
        =  25,9 dB

Input +

Input -

Input +

Input -

First order active low pass filter
R = 3000 ohm
C = 270 pF = 270EE(-12) F
Fc (-3dB) = 1/(2*pi*R*C)
= 1/(2*3,14*3000*270EE(-12))
= 196488 Hz = 196,5 kHz

Gain = 1 + 6000/Rg
         = 1 + (6000/280)
         = 21,0  Vo/Vi
         = 26,4  dB

Rg 300

270 pF270 pF

270 pF270 pF

Vref.
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